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1. 2km 1. 2km&Z FDEB 11576 aE 2 12 2 Bath 0:04:52
1. 2km 1. 2km&Z F D &B 2(581 FE OH REARE g 0:05:07
1. 2km 1. 2km&Z FDEB 31580 e &H HEXE g 0:05:08
1. 2km 1. 2km&Z F D &B 41586 JIH  #E = 2 1= 0:05:18
1. 2km 1. 2km&Z FDEB 5513 maf EE AR EX A 0:05:20
1. 2km 1. 2km&Z F D &B 61566 L REARE FOoK BT 0:05:23
1. 2km 1. 2km&Z FDEB 7(642 BRlE MR AR &t 0:05:34
1. 2km 1. 2km&Z F D &B 81584 EAXRTE REARE JAKH 0:05:56
1. 2km 1. 2km&Z FDEB 9[565 WE EE HEAE FO7KHT 0:05:58
1. 2km 1. 2km&Z F D &B 101520 e KB REARE F0/KHET 0:06:07
1. 2km 1. 2km&Z FDEB 111549 WE =5 N F07K ET 0:06:09
1. 2km 1. 2km&Z F D &B 121541 hE 1K = 2 AZEHT 0:06:12
1. 2km 1. 2km&Z FDEB 131551 AR RE AR F0oK BT 0:06:15
1. 2km 1. 2km&Z F D &B 141552 bl FES REARE F0KET 0:06:18
1. 2km 1. 2km&Z FDEB 15(504 WH UVFY &2 2R 0:06:27
1. 2km 1. 2km&Z F D &B 16510 Hf #8 = 2 K ARHT 0:06:28
1. 2km 1. 2km&Z FDEB 171526 He ZF AR I 0:06:50
1. 2km 1. 2km&Z F D &B 181550 B& & REARE FOoK BT 0:06:56
1. 2km 1. 2kmZ F D &p 191508 = [E1ES AR g 0:07:02
1. 2km 1. 2km&Z F D &B 20(521 mAt {2 REXE F07KHET 0:07:03
1. 2km 1. 2kmZ F D &p 21543 Bk 1K AR F07K T 0:07:03
1. 2km 1. 2km&Z F D &B 221533 HE WHZ N F07KHET 0:07:03
1. 2km 1. 2kmZ F D &p 23(585 & = HEXE J\KH 0:07:05
1. 2km 1. 2km&Z F D &B 241629 fid RE N F0/KET 0:07:05
1. 2km 1. 2kmZ F D &p 25(522 BX %8 AR FOIKHT 0:07:06
1. 2km 1. 2km&Z F D &B 26(623 =% MmF N REAT 0:07:12
1. 2km 1. 2kmZ F D &p 27(620 HH E4& AR aiam 0:07:13
1. 2km 1. 2km&Z F D &B 28(621 FEEH B N &&hm 0:07:13
1. 2km 1. 2kmZ ¥ D &p 29(564 NEF  fEF AR FO/KHT 0:07:15
1. 2km 1. 2km&Z F D &B 30(559 MR KA ! F07KHET 0:07:15
1. 2km 1. 2kmZ ¥ D &p 31[627 FE Ex AR 117K BT 0:07:17
1. 2km 1. 2km&Z F D &B 32(560 fhlR R ! F07KHET 0:07:17
1. 2km 1. 2kmZ F D &p 33[546 MHE #BF AR F07KHT 0:07:18
1. 2km 1. 2km&Z F D &B 341502 WE L&Y ! EAH 0:07:21
1. 2km 1. 2kmZ F D &p 35(503 AH Wk N EX At 0:07:22
1. 2km 1. 2km&Z F D &B 36/574 = xE & it I =kl 0:07:25
1. 2km 1. 2kmZ F D &p 37[592 R ET N F7KET 0:07:27
1. 2km 1. 2km&Z F D &B 38(595 = RAEF 5 it] & =kl 0:07:29
1. 2km 1. 2kmZ ¥ D &p 39641 B AR it 0:07:35
1. 2km 1. 2km&Z F D &B 40(568 Bl HEXK N F0/KET 0:07:35
1. 2km 1. 2kmZ F D &p 411594 i DEL AR REATH 0:07:39
1. 2km 1. 2kmZ F D ER 42(544 #7 = REXE FoKHT 0:07:42
1. 2km 1. 2kmZ F D &p 431554 R DE REAE F07KET 0:07:42
1. 2km 1. 2km&Z F D EB 441537 hIE TEE AR FIKET 0:07:42
1. 2km 1. 2kmZ F D &p 45517 A Y REARE o 0:07:44
1. 2km 1. 2km&Z F D EB 46(612 = tid B ] & AEHT 0:07:46
1. 2km 1. 2kmZ F D &p 471512 . EF EEE [EAT 0:07:48
1. 2km 1. 2kmZ FDE 481598 [T S 35 ta fi] 12 AXZHM 0:07:49
1. 2km 1. 2kmZ FDE 491597 IEE S e & ] IR EX=hin 0:07:50
1. 2km 1. 2kmZ FDE 50(611 hn =¥ ta ] I AEHT 0:07:50
1. 2km 1. 2kmZ F D H 51540 fRiE BT AEXE FOOKHT 0:07:52
1. 2km 1. 2kmZ FDE 52(617 = BEF [ I Bk 0:07:55
1. 2km 1. 2kmZ F D H 53619 MHHE _FI AR [FHEM 0:07:56
1. 2km 1. 2kmZ FDE 54(636 T  FifE ! REAT 0:08:03
1. 2km 1. 2kmZ FDE 55[555 R ZE HEAXE FO/KHET 0:08:04
1. 2km 1. 2kmZ FDE 56(531 Rt EEF AR F07KET 0:08:05
1. 2km 1. 2kmZ F D &p 57(553 HE ARE REAE 17K BT 0:08:06
1. 2km 1. 2km&Z F D EB 58(539 BlR & AR F07KET 0:08:11
1. 2km 1. 2kmZ F D ER 59(562 BEAR KREBHE [8ERE  [FIKE 0:08:12
1. 2km 1. 2kmZ FDE 60(561 R BE HEAE F07KET 0:08:12
1. 2km 1. 2kmZ F D &p 61[548 ITEE REAE F07KET 0:08:14
1. 2km 1. 2km&Z F D FB 62]563 BAX SBF HEAE FO/KET 0:08:16
1. 2km 1. 2kmZ F D EB 63[599 B BX REAE %[5 BT 0:08:17
1. 2km 1. 2km&Z FDEB 64[509 = MEF REXE G 0:08:17
1. 2km 1. 2kmZ F D &p 65(524 BIE =&%F REAE FOoKHT 0:08:19
1. 2km 1. 2km&Z F D EB 66(627 FH MNEF REXE JKJITHT 0:08:20
1. 2km 1. 2kmZ F D &p 67[528 FE EREA REAE FOoKHET 0:08:23
1. 2km 1. 2km&Z F D EB 68]538 XNl &F REAE & 0:08:30
1. 2km 1. 2kmZ F D &p 69(501 & &R REAE E&H 0:08:34
1. 2km 1. 2km&Z F D EB 70(519 A HE HREXE it 0:08:37
1. 2km 1. 2kmZ F D &p 11(518 BE_FB REAE FHinh 0:08:38
1. 2km 1. 2km&Z FDEB 12(640 BE BT HREXE it 0:08:42
1. 2km 1. 2kmZ F D &p 13(614 S HERR REAE BERTH 0:08:43
1. 2km 1. 2km&Z FDEB 714(616 5 fmF REXE REAT 0:08:43
1. 2km 1. 2kmZ F D &p 15(534 HE #0 REAE FO/KHET 0:08:49
1. 2km 1. 2km&Z F D EB 16(532 HE T REAE FO/KHT 0:08:49
1. 2km 1. 2kmZ F D &p 17{558 WA = REAE F7KHET 0:08:54
1. 2km 1. 2km&Z F D EB 18(608 TE =2 REXE &EH 0:08:54
1. 2km 1. 2kmZ F D &p 19(607 TE WF REAE aiam 0:08:56
1. 2km 1. 2km&Z F D EB 80(591 fBlE % HREXE FO/KET 0:08:58
1. 2km 1. 2kmZ F D &p 811577 =1 BE REAE Wige™H 0:09:03
1. 2km 1. 2km&Z FDEB 82(601 =X KA REXE G 0:09:05
1. 2km 1. 2kmZ F D &p 83]587 B %= AR FOoKHT 0:09:11
1. 2km 1. 2km&Z FDEB 841643 HE 2= Fel = 0:09:11
1. 2km 1. 2kmZ F D &p 85(644 HE = a2 &2 0:09:11
1. 2km 1. 2km&Z FDEB 86(634 HH = REXE REARTH 0:09:12
1. 2km 1. 2kmZ FDE 87]635 HH AR REART 0:09:12
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1. 2km 1. 2kmZ F D& 881567 sk BT AR  [FI/KHET 0:09:19
1. 2km 1. 2kmZ F D &f 891633 B R AR [&&FWm 0:09:25
1. 2km 1. 2kmZ F D& 901632 £ &5 AR [&&m 0:09:25
1. 2km 1. 2kmZ F D &f 91]545 # M5 REARIE  [FOJKHT 0:09:31
1. 2km 1. 2km&Z F D &p 921515 B fE= BRAE [8EAXmHm 0:09:40
1. 2km 1. 2kmZ F D &R 931516 B EE REAE [BEARTH 0:09:41
1. 2km 1. 2kmZ F D& 941603 gl K+ EER |EEm 0:09:54
1. 2km 1. 2kmZ F D &R 951583 a8 A~sY & 2 X 0:09:59
1. 2km 1. 2kmZ F D& 96593 I BF AR [EXm 0:10:06
1. 2km 1. 2kmZ F D &R 971569 =H L% BEXE [BXmH 0:10:07
1. 2km 1. 2kmZ F D& 981604 AH HhE AR [ERAT 0:10:08
1. 2km 1. 2kmZ F D &R 991605 AR X AR E AT 0:10:08
1. 2km 1. 2kmZ F D& 100]625 = B RIGE [ TR T 0:10:08
1. 2km 1. 2kmZ F D & 101]624 =2 =F RIGR R 0:10:08
1. 2km 1. 2kmZ F D& 102|571 B BF AR k07K BT 0:10:21
1. 2km 1. 2kmZ F D & 103618 A AX REAE [FHEH 0:10:21
1. 2km 1. 2kmZ F D& 1041523 "E_EF AR  [FIKHET 0:10:26
1. 2km 1. 2kmZ F D & 105530 BMH SLlAH  |ERE LU BE T 0:10:26
1. 2km 1. 2km& F D&} 106]630 T PE REARE  [F0/KHET 0:10:34
1. 2km 1. 2kmZ F D & 1071628 bid ¥ BEAR  [FI/KHET 0:10:35
1. 2km 1. 2km& F D&} 1081529 gR 0% REARE  [FI/KHET 0:10:40
1. 2km 1. 2kmZ F D & 109637 AR EBX AR [EEXT! 0:10:44
1. 2km 1. 2km& F D&} 110]638 AR HaE AR [BEXH 0:10:44
1. 2km 1. 2kmZ F D & 111]536 =K B REARE  [FO/KHT 0:11:01
1. 2km 1. 2km& F D&} 1121535 ok MEK [BEAXE  [FKHET 0:11:01
1. 2km 1. 2kmZ F D & 1131606 B RE BAE [X8&H 0:11:12
1. 2km 1. 2km& F D&} 1141525 BAE & REARE  [FI/KHET 0:11:22
1. 2km 1. 2kmZ F D & 1151590 BA B¥ EREE  [REFHH 0:11:32
1. 2km 1. 2km& F D&} 116]570 CCME F3 REARE  [FI/KHET 0:11:34
1. 2km 1. 2kmZ F D & 117]610 e tH/HF (AR |BRA®H 0:11:40
1. 2km 1. 2km& F D&} 1181579 e Fx AR [BEXTH 0:11:45
1. 2km 1. 2kmZ F D & 1191615 LRt AR (X! 0:11:55
1. 2km 1. 2km& F D&} 1201541 He =¥ REARE  [F0/KHET 0:12:03
1. 2km 1. 2kmZ F D & 121]542 s t= REARE  [FO/KHT 0:12:03
1. 2km 1. 2km& F D&} 1221557 FE BE AR 117K BT 0:12:14
1. 2km 1. 2kmZ F D & 1231556 HE EF BEAR  [FI/KHET 0:12:14
1. 2km 1. 2km& F D&} 1241613 #m= =¥ AR [BEXTH 0:12:23
1. 2km 1. 2kmZ F D & 125600 i AR [&5m 0:12:30
1. 2km 1. 2km& F D&} 126(511 BH D BEAE [KiZM 0:12:36
1. 2km 1. 2kmZ F D & 1271639 ILA ETY WoR [T\ 0:12:43
1. 2km 1. 2km& F D&} 1281588 AE & RIGE BRt 0:13:03
1. 2km 1. 2kmZ F D& 1291589 AEH  RE RIGE BIRH 0:13:04
1. 2km 1. 2km& F D&} 130(582 %k N\BF [BEAE [FEAH 0:13:21
1. 2km 1. 2kmZ F D& 1311609 AIE & A& il 0:14:17
1. 2km 1. 2km& F D&} 1321572 = = REA T 0:14:21
1. 2km 1. 2kmZ F D &R 1331573 = FH BEAE  [FI/KHET 0:14:22




